T5bbbbZg (mgs = 2250 GeV) T5qqqqHg (mgz = 2250 GeV)

Selections mf? = 200 GeV mi(f = 2150 GeV mx(l) = 200 GeV mf(l) = 2150 GeV
All events 28.6 +0.1 269 +0.1 379 4+0.2 373 +£0.2
Lepton veto 252 +0.1 229 +0.1 33.0 +0.1 325 +0.1
Isolated track veto 241 +0.1 229 +0.1 31.0 +£0.1 315 +0.1
v(pr > 100GeV, |y] <24) >1 11.72+0.08 12.28 £0.08 153 £0.1 17.6 £0.1
paRiss > 300 GeV 8.35+0.07 11.63 £ 0.08 10.05 £ 0.08 16.7 £0.1
Niets = 2 8.35+0.07 11.57 +0.08 10.05 + 0.08 16.7 +0.1
St > 300GeV 8.35£0.07 11.57 £0.08 10.05 £+ 0.08 16.7 +0.1
Trigger efficiency 8.14 £0.06 11.29 £0.08 9.78+£0.08 16.2 £0.1

AP(FS, pmiss) > 0.3 6.89 +0.06 9.09 +0.07 8334007  13.19+0.09




